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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Diagrams/ Figures, wherever required, shall be drawn in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Ql. (a)

(b)

(c)

(d)

(e)

Qug A
SECTION A

gfvreht 21 % farfirr Gt a7 qof S/ T IeeiE A LA |

Describe various defects in clay bricks giving sources/causes of defects. 10
Th GHRIVTT 1 areft 1% <2 1Y Fortré areft w3 forg SiEsft =et #f v @
ST (veTr) 3 T ot fofereor awrhar g g

Draw neat sketches, showing complete details of plans of alternate
courses of a 1— brick thick masonry wall in English Bond having a
right-angled corner. 10

ST ekl o FoTq 3w foh ST ame 27w 1, 239 2 3T 2rew 3 ufeerht 3 Hewqol
Afvrerarort st ol hifsr |

Describe the important features of Type 1, Type 2 and Type 3
preservatives used for timber. 10

U SRS ST §U% T & 62 et A S a1t eheeersy & 55 fopeft Y gt &
SRS % 3 T TS §AT U werh wigearsd ¥ v B 2@y v e @ |
ST 3 G § e I it A = 10 Hew ¥ | 1 B £ e 9y
creeeTSH 1 i fowré & o 7k | aft 7w fewré 7€t 2ar 2, o 91 £ B w7
T TS Ht A Fhft gt o1 et Bt anfes s 1 e frd 33 it |

(=N

A ship is 55 km away from a lighthouse of height 62 m above mean sea
level. An observer standing on the deck of the ship tries to see the
lighthouse top. The height of the observer’s eye above mean sea level is
10 m. Determine whether the lighthouse top will be visible to the
observer or not. If not visible, find out the distance by which the ship has
to travel towards the lighthouse so that it becomes visible to the
observer. ' 10

0-75 HRUE & AT H1T 1ol U s =Teish 60 Freft why 52 <6 1f & 2-59
@It ATt G FiEH T A= AT T M = @ R, 5 S 55 it i 3 W T
fth =TeTeh o T | 31T ST & |
AT ST SATATARIC SioF ST T T ek Tehell & 2 AT sarer 6l o &), @ iy
HTCToh G UT &k Gohal & 2
AA AT R : g = 9-8 m/s2
f = 0-4 (g Ffem)
f = 0-32 (vfiet Higm)
An alert driver with a reaction time of 0-75 seconds is driving downhill
on a 2-5% grade at 60 kmph on a dry pavement when suddenly a person
comes in the path of the driver at a distance of 55 m.
Can the driver stop in time with emergency braking ? Can the driver
stop in time when it is a rainy day ? 10
Assume : g = 9-8 m/s?
f = 0-4 (dry pavement)
f = 0-32 (wet pavement)
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Q2. (a) e o w35 forw et () ) few g e i e e & | srearh fopar
i TR qu weeh TR <t 3wy famm e ¥ | Jra Ao
() e foRe o T B T STUTeTd
(i) eI ST o foTu remefier srferd aw |
Gii) eI g ¥ T Aenfaitad SR sed et (SHfaH S & A
ST T Y GRS 3 for i quTes g 3 ®9 7 i)
(iv)  Scdeh ST &l &ih
(v) STl T Shifwdeh I
e i gt e feigRed i Erdenr ot Af | Hfeder Y T T W © ?

ot 3Tt aua et A feg me &

The network for a construction project is shown in the figure given
below. The three time estimates for each activity are given along each
activity arrow. Determine the :

(i) Expected time of completion of each activity

(ii) Earliest expected time for each event

(iii) Latest allowable occurrence time for each event, (take earliest
expected time for last event as the scheduled completion time for
the project)

(iv) Slack for each event

(v) Critical path of the network

Also, give explanation of dotted arrow shown in the network. What is
the significance of critical path ? All time estimates are in days. 20
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Q3.

(b)

(c)

(a)

55 et o e BT (2 aR) % o B & 2 O eftite e iem A e 30 A
R o i =fters 3-75 e 7 | et faw e sfergt 1 3w e gu srgded Wt
S ST i SAHTAT HIfT ;

TS e Bl 7 ST FRIHR wfet = 1250 /a2

ferefira €t # st o et (S,) = 2000 frmm/as2

AT Bl H I T W (Sy,) = 17-5 Frmanh?

ferefire €t 7 srgrr s wfersret (S)) = 24-6 a2

H5hIC FTEH T THF W (W) = 2400 fram/fi

SISO T[UTih T SAfrehaH 7 () = 1-35

What are the functions of tie bars in rigid pavements ? A cement
concrete pavement has a thickness of 30 cm and lane width 3-75 m.
Design the tie bars along the longitudinal joints using the data given
below :

Allowable working stress in steel tie bars = 1250 kg/cm?
Allowable tensile stress in deformed bars (Sg) = 2000 kg/cm?
Allowable bond stress in plain bars (Syp) = 17-5 kg/cm?
Allowable bond stress in deformed bars (Sp) = 24-6 kg/cm?
Unit weight of concrete pavement (W) = 2400 kg/m3

Maximum value of friction coefficient H=1-35

I=d T areft S wre () 1 U 9T ¢ fSreht stfream srqwa i 130 frft
ST S12T ST & | 76 T 2° o STeft HoheoT eTvaTs & 7 21 2 | 9% R 39 6T 6
fere amettearr (gerafersrem), st s T sft G eS|
Hq td 90 ot wfa sfer sf wreel i arfidfad Ty 60 fft wRY Her
AT | e =T 2 S % wftad i 7w 35 Rt wfy dEve 2| foregl a1 3tfepet w1
SYFH &Y H A A |

A high speed B.G. section with a maximum sanctioned speed of
130 kmph is proposed. The section is passing through a transition length
with a 2° curve. Calculate the superelevation, maximum permissible
speed and transition length for this section at curve. Assume the
equilibrium speed as 90 kmph and the booked speed of the goods train to

be 60 kmph. Rate of change of Cant or Cant deficiency is 35 mm/sec.
Assume any other data suitably.

() Tl (WiTe) =T, Gre (TRT) AT, TE-ATeT T, AT e 3
HEd =TeT shY SR IR |
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(i)

(1)

qa‘q&mﬁ'snﬁ%%ﬁaa%mﬁm%@mwwﬁwwﬁﬁxm
ﬁﬁmﬁm%@ﬁﬁwﬁamﬁmﬁﬁqﬂq%%m
oft e & I YaTE i A, wmaﬁwaﬁﬂ)w%mﬁm

T T |

7fe 3R farcia & Sied 4
e | aftea o | Sftea fat FreAl shi g (3| 9H)
| e (Ue) | s et | ol | fodia fowm
(Fe) e g i
E@afE| | 485 1-60 45 65 376
ufimqd | 836 1-90 4.0 55 280

Explain spot speed, running speed, space-mean speed, time-mean

speed and average speed. 10
(i) The consolidated data collected from speed and delay studies by
floating car method on a stretch of urban road of length 2-5 km,
running East-West are given below in the table. Determine the
average values of volume, journey speed and running speed of the
traffic stream, along either direction. 10
Mean Values of Speed and Delay
Direction Mean Mean Number of Vehicles (Mean Value)
Jmfrney Shoppii Overtaking| Overtaken |In Opposite
Time Delay . :
g i Direction
(Minutes) | (Minutes)
East-West 4-85 1-60 4.5 65 376
West-East 8-36 1-90 4-0 55 280

® @)
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Two points A and B having elevations of 585 m and 250 m
respectively, above datum, appear on a vertical photograph
obtained with a camera of focal length of 250 mm and flying
altitude of 2300 m above datum. Their correlated photographic
coordinates are as follows :

Point Photographic Coordinates

X (cm) y (cm)
A + 5-65 + 3-75
B - 345 + 855
Determine the ground coordinates of points A and B and calculate
the horizontal distance between points A and B. 5
(i) TF HFd 5 ABCD I o, 7eqtar it sreer Femam & -
T | o () | s S
AB 350-8 + 303:03 +176-6
BC 408-5 - 336-7 + 2314
CD 285-4 -2113 | -191.9
@1 DA i T 3 e &1 afterer i |

The lengths, latitudes and departures of a closed traverse ABCD
are as follows :

Line |Length (m)| Latitude |Departure
AB 350-8 + 303-03 + 176-6
BC 4085 - 336-7 + 2314
CD 285-4 -211-3 -191.9
Calculate the length and bearing of the line DA. 10

(c)  Frmfor orctt ot Feferfiem Swaroit w67 s foe forme spreit 3 foperr s 2 2
(i) A9 rE dee (T e e
(i) TSR
(iii) Rl I (e Tahae)
(iv) @A
(v) FaT (2

For what specific operations are the following equipment used at
construction sites ?

(i) Sheep foot roller

(i) Bulldozer

(iii) Dragline excavator

(iv) Tower crane

(v) Hoe ‘ 15
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Q4.

(a)

= fou o o § wen fAfda afeisET S (Yeas) fafirm foramett 1 arrhfera
Tty (R i) 3 T gwtar e @ | Frefefeaa wm Hif

()  FYTier T e :

(i) Furfaaftsd w1 S

(i) e fora T TTRITST ST shTed Ud TS FHTTH shiet

(iv) ST Fora T qenfarctfiard adH et Ua Aemfarettiard ST et

(v) el T3 o1 e i (Fefte)

(vi) SITeT o1 Shifeaeh 9
meﬁﬁwﬁmmm%mmm%wm
S

The network of a certain project is shown in the figure given below with
the estimated time duration (in days) of various activities. Determine
the following :

(i) Earliest event time
(ii) Latest event time
(iii) Earliest start and finish time of each activity

(iv) Latest start and finish time of each activity

(v) Total float of each activity

(vi) Critical path of the network

(Assume the scheduled completion time of the project equal to the
earliest event time of the last event)

t=1
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(b) e % MRt @7 % @rer 5w TC U 25 ot A1 wivie ssfile (1: 2 4) wet & forw
foreeqet ferwetwor &t (2 wfdy anf i) dam hifvg |

Prepare a detailed analysis of rate (% per sq. m) for a 25 mm thick
cement concrete (1 : 2 : 4) floor with cement finishing coat. 15

(c) U TEfUeh FHETHS (STwie) ShIRiT 7 o sTSU 3 S0 oft wet ) Tife
Hifore | afe 2 ot e (SfLSfT.) TeTTer Uh-gut Y 8+5 1 1 % Hivr | Hiw e &, @
Sk off U TS (Sre) iR T stfirmeus iRt |

Sketch a typical diamond crossing and label all its components. Design a
diamond crossing between two B.G. tracks crossing each other at an
angle of 1in 8-5. 15
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SECTION B

Q5. (a) mm@@w%?m@mmqﬁ%mﬁww%m:ﬁ%mm%:
Q (a1 et wfdl HhUs)
30
40
50
60
80
90
100
120
110
90
80
70

STETTORE SATST ST TG ST STANT e a1 3 S STe 3R A e J1d I |

What is a flood hydrograph ? The monthly discharge (Q) data of a river
at a gauging station are given below : :

FEEEESREREER

Month Q (m3/s)
January 30
February 40
March 50
April 60
May 80
June 90
July 100
August 120
September 110
October 90
November 80
December 70

Draw the hydrograph and using the graph find peak flow and minimum
flow in the river. ' 10
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(b)  TA=AfcTRad gat it s #Hifve
(i) 9
(i) aTSTeES (ZFafieT)
(iii) AT (FANTHIIT)
(iv) I=T:%eq
Explain the following terms :
(i) Evaporation
(i) Transpiration
(iii) Evapotranspiration

(iv) Infiltration 10

() o ST () vt i v b e | o . e g o e
aTfep a9t hmen: 72-3 A, 86-4 ¥, 94-2 A, 103-8 [t 3 714 ot B | e
Tt <k TR 7 5% Afe % forw, srravars siffees autaiet ) dear 3@ £

A catchment has five raingauge stations. In a year, the annual rainfall
recorded by the raingauges are 72-3 cm, 86-4 cm, 94-2 cm, 103-8 cm and
71-4 cm respectively. For a 5% error in the estimation of mean rainfall,

find the additional number of raingauges needed. 10

(d) T I |V HT YR S, St 7 CBOD 1000 mg/L 2, 38 2 57 drex wfy
HHUE T Y U T H Srer 9T | T 8 5 et i Fove 1 9w @ R adk
39T Syt =% CBOD 10 mg/L ® | Afe ff3eam o€ 1uiss 0-1 wfafew 8, <
m&@w%ﬁmﬁz%aﬁaﬁaﬁ(oﬁmﬁmaﬂrﬁwﬁz%m%
2Omwﬁ%WﬁWCBOD3ﬂT5ﬁH¥ﬂHCBODEﬁWEﬁﬁQI(‘—lé’tsﬁr
T 10 foRet/fe wrr i)

A high strength wastewater having an ultimate CBOD of 1000 mg/L is
discharged to a river at a rate of 2 m3/s. The river has an upstream
ultimate CBOD of 10 mg/L and is flowing at a rate of 8 m3/s. Assuming a
reaction rate coefficient of 0-1/day, calculate the ultimate CBOD and
5-day CBOD of the river water just after the mixing point of the
wastewater (at 0 km) and 20 km downstream from the mixing point.
(Assume the velocity of river = 10 km/day) 10
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Q6.

(e)

(a)

(b)

ST St ‘Ufd A GIT ¥ T R’ wHed 2 3 F Ruifa frer S @ 2
Ife Sta1 st 3ftea fFs i 135 et wfa safes gfafen ?, ot Frefafaa = fuffa
Fifere |

(i) STt Afereham e mim;

(ii) et Y Aferehas FraTfee |iT;

(iii) STeT ) fersham wTfies O

(iv) T st Sfereray gfa ser | |

What do you understand by ‘per capita demand’ of water ? How is it
determined ?

If average daily water demand is 135 litres per capita per day,
determine the following :

(i) Maximum daily demand of water;
(ii)) Maximum weekly demand of water;
(ii1) Maximum monthly demand of water;

(iv) Maximum hourly demand of water.

Ueh S{efaTel &L sht SATEAT hIfST | HTHT=T Jfiehi Sl TIoht Teh STUTLEE, STetaTet & &
T FU o Freeer (Q) 3 for =istar wmw <hifsre |

Ife Jearet & H grErn, K = 1074 et wfa derve, vy o i s,
R = 500 Hiet, U i BT, r = 50 Hiew, g SToramel &R 7R, H = 30 Hex
3R ¢ F ur i TETE, h = 10 HieX 7, A Siad e 3 fifvr |

Explain an aquifer. Deduce the expression for discharge (Q) through a
well in an unconfined aquifer taking usual symbols.

If the permeability of the aquifer, K = 104 m/s, radius of drawdown
curve, R = 500 m, radius of well, r = 5-0 m, total aquifer thickness,
H = 30 m and depth of water in well, h = 10 m, find the steady
discharge.

Tk ek g g G, o ww At fiwe @ R, % o (@

3R TEE) @ T AT, R 10 x 108 Sfter wfa feT % St A yeiee ik

45 TFHUE o T ST AU AR & foru srfvrioad o ST 2 | 450 s~ &t
forsror dteram (G) A ITH T 3 fIT SAravaes wifth shi o oft AT |
STt sht ST = 0-89 x 103 N.s/m? 3T STet i TeUs T S % SATH T ST

2 : 1 99 e | ’
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Q7.

(c)

(a)

Determine the size (i.e., diameter and depth) of a circular rapid
mixing tank having a mechanical mixer, which is to be designed for
treatment of water flow of 10 x 108 litres per day and for mean hydraulic
detention time of 45 seconds. Also, calculate the power required to
achieve a mixing intensity (G) of 450 s—1.

Assume viscosity of water = 0-89 x 103 N.s/m2 and depth of water to
diameter of tank ratio of 2 : 1.

() I yeuA | “5 W’ﬁmw%?&m%m%wﬁ
HH IRTEM A & 2 G8Y § e Hifv |

What is the “5 R’s” concept in waste management ? How do they
contribute to managing the ill-effects of waste ? Briefly explain.

(i) T 8901 T Tt 3T § 4 7 i FH0E NO, fehetar 8 | afe amg i wfr
Uy = 5nﬁasrﬁfﬁawg%aﬁtsawwﬁa‘n’wm%a}mw@r
2-0 foreft & it fawm & NO,, wigar =t aeftawor fafiaw | dqor worer & 20 freft
S T 3R S & 50 Hiew S 3tRrkan NO, |igaT 1 81t 2 D’ SR
%wﬁa%maﬁaﬁzomaﬁaﬁ@mﬁﬁmﬁ)wﬁw
T oy = 150 X 3R o, = 50 Hiet ar i |

A dumpsite fire emits 4 g/s of N O,. Write an equation of N O,
concentration at 2-0 km downwind from the dumpsite if the w1nd
speed Uy = 5 m/s and its stability is ‘D’ type. What would be the
maximum NO, concentration at 2-0 km from the dumpsite at the
ground and also at 50 m above ground ? Assume diffusion
coefficients oy, = 150 m and o, = 50 m at the downwind distance of
2:0 km from the source for ‘D’ type stability.

GOWW(D)WWEI%O4WMWWWWD 0-4) W T
JETAT W 39 qLE ¥ Jarfed e 8 R soﬁﬁsrﬁrm%éwrwfmqtm *
T T 37uHTSH ot Hife it forar o |
qgfn%rréaﬁtwnaréqraﬂmwmwﬁaéﬁaﬁtﬁwﬁaﬁﬁaﬁﬁ
ST | Af TR Ui (N) = 0-015 1 9 WaTe #t ovft et o ww o
STHFATE |

A sewer having a 60 cm diameter (D) is required to flow at 0-4 depth
(i.e., a proportional depth d/D = 0-4) on a grade ensuring a degree of
self-cleansing equivalent to that obtained at full depth at a velocity of
80 cm/s.

Determine the required grade, associated velocities and discharges at
full depth and 0-4 depth. The value of Manning’s rugosity coefficient
(N) = 0-015 may be taken same at all depths of flow.
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(b)  T=fefaa $i smen fifve
(i) GTet STeRiEt W (o)
(i) farfere gmor
(iii) €T TOTIH
(iv) ORETRIT oTish
(v) i o e
Explain the following :
(1) Aqﬁitard
(i) Specific retention
(iii) Storage coefficient
(iv) Coefficient of permeability
(v) Darcy’s Law 15

© () fr=fafeas fam & guie mo yrofia sta & o, g9 Hifve -
I g s foeg qee o
II. v o foreg qeam o

3 T ——t 6m w—
Ry
A
27 m
i 20 m

Wy
R S .

6 m-je—15 m-3)

frafefaa erferet w1 suT e -

=070, ye = 24 forelt =g uf o Hfiex
Yy = 10 Tt =g ufer = fiex
q = 1400 ferelt =g wf &t wftex
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For the gravity dam shown in the following figure, determine
I.  Factor of safety against sliding
II.  Factor of safety against overturning 8

6 m->k—15 m—
Take the following data :
u=0-70, y,=24 kN/m3
Yy = 10 kN/m3
q = 1400 kN/m?

(i) i (S 3R Seer i sarean AR | 17 Ff FR Tews i 30 T A1 A1
Fraftr arer 2200 RFR T d1 =g F faw folr (smeede) B sTawEs
oo e T R ? :

Explain duty and delta. What is the discharge capacity required of
the outlet to irrigate 2200 ha of sugarcane having a Kor depth of
17 ecm and a Kor period of 30 days ? 7

Q8. (a) (i) O 1 HTE T AT R ? HIH WG o oA gwRT W A @ 2 et stihet
T I Tl BT eHEt 36 1 FergTear g U it oht et St Safirsher shifsre -
ot ST e, Q = 15 B it wid deve
ST =T |1E VT, f = 1-0
W?ﬁW-SIHW:%H:lV

What is Lacey’s Silt Factor ? What is its value for standard silt ?
Design an earthen canal using Lacey’s silt theory with the following
data : :

Full supply discharge, Q = 15 m3/s
Lacey’s silt factor, f = 1-0
Canal side-slope = % H:1V 10
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(b)

(i) 3Ieera 91 & ? Fraferfaa sfen § fora wehr & 3ccera e fru o § 2
() YTEST-ANTS st
(i) TR (FTATTE) sATer
(iii) ENrpe =Y
(iv) Te=aty
Th Y9T-chshic 1Y T -0 ot 1 A & 2 3 9 foheel af ot b foreqa
e ST |

What are spillways ? Which type of spillways are provided in the
following dams ?

(i) Bhakra-Nangal Dam

(ii) Ramganga (Kalagarh) Dam
(iii) Hirakud Dam

(iv) Rihand Dam

What forces act on a mass-concrete dam ? Explain any two of these
forces in detail.

T BETEE | 100 SATRAT 3 oI 30T foby S aret strararer Aftess 3o i fammd
fuifed IR | Aftes 3 A T stammes, s/aus grm i @i YerT i
FEFEAT B THEING FH T GEW S IR | Oolsel $T 9
240 e afq e aAT ST EERaT 2 |

frefafaa stieret s sua Hifse -

— I 10 et ufa fime stfieran yare % fw straves gdqg &t = 0-92 3t Hiex

—  37adred 3 H U Y 19T TR = 0-3 Hew

— 3 GEhiaL (hIaTS) = 0-3 Hiex

— 39U I UTshAT % foTT 71999 &HdT = 0-032 99 Hev/afte
—  ufua 37ade % T sTTavas &war = 0-0002 5 Hieysafe/
— A AR (FEHTE) F T = 9§t An

2 i’maﬁmﬁaﬁﬁﬁ@éww(%) -25

Determine the dimensions of a rectangﬁlar septic tank serving
100 persons in a hostel. The dimensions of the septic tank must be able

to accommodate sedimentation, sludge digestion and sludge storage

functionalities. The peak discharge of sewage can be considered as
240 litres per minute.
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Use the following data :

Surface area required for every 10 litres per minute of
peak flow = 0-92 m?

Water depth required in the sedimentation tank = 0-3 m
Freeboard required = 0-3 m

Capacity required for sludge digestion process = 0-032 m3/capita
Capacity required for digested sludge = 0-0002 m3/capita/day
Sludge withdrawal (cleaning) frequency = once in a year

Length to width of tank ratio (%) =25 15

(¢) o7 % YINeM 3 foTU UehET X 3 Ueh Teh (ftheet) HTE & §9 § SUF1T foram STTat
2 1% % 1 0-6 Tt =am % ¥ SRt STTBTT UM (¢) 0-85 @ 3 STufafh e
(G) 2:67 & | T (&) 0-65 HieT Tedt & ST FWehT THLHAT () 0-45 ¢ | Theeet HrEmm
'ﬁaﬁmuﬁwg@;ﬁ%sﬁém)mo-%ﬁM(ne)wﬁwﬁaﬁmm
2 | srravae wiarEe 3, ghorHt Rreafa Teus o fta arem @ N 9 g
T 1 hIfSre |
IR % fore frfafaa i (Sen) wm ofifee :
g = 9-81 m/s?
ST 1 Ee (p) = 998-2 kg/m3
STeT shl ST () = 1-002 x 103 N.s/m?2

Uniform sand is used as a filter mediﬁm to treat the water. The sand

grains are 0-6 mm in diameter with a shape factor (¢) of 0-85 and specific
gravity (G) of 2:67. The bed is 0-65 m deep with a porosity (n) of 0-45.
The filter medium is to be expanded to a porosity (n,) of 0-75 by

hydraulic backwash. Determine the required backwash velocity,

resulting expanded depth and loss through the expanded medium.

Assume the following data for use :

g = 9-81 m/s?

Density of water (p) = 998-2 kg/m3

Viscosity of water (1) = 1-002 x 103 N.s/m? 15
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